

# CONSECUTIVE EVALUATION OF EULER SUMS

KHRISTO N. BOYADZHIEV

Received 12 June 2001

We describe a simple method for a consecutive evaluation of the Euler sums  $S(r, p)$ ,  $r = 1, 2, \dots$  in terms of zeta values.

2000 Mathematics Subject Classification: 40A25, 40B05, 11M06, 33E99.

**1. Introduction.** The Euler sums

$$S(r, p) = \sum_{n=1}^{\infty} \frac{H_n^{(r)}}{n^p}, \quad (1.1)$$

where

$$H_n^{(r)} = \frac{1}{1^r} + \frac{1}{2^r} + \dots + \frac{1}{n^r}, \quad r \geq 1, \quad p \geq 2; \quad (1.2)$$

have enjoyed considerable attention in a number of publications during the last decade (see [1, 3, 5, 6, 7, 8]). For the history of the problem see, for instance, the comments in [1, 2, 5, 7]. Euler [6, pages 217-264] evaluated  $S(1, p)$  and several  $S(r, p)$  in terms of zeta values, where

$$\xi(p) = \sum_{n=1}^{\infty} \frac{1}{n^p}, \quad p > 1, \quad (1.3)$$

is the Riemann zeta function. The numbers  $S(r, p)$  for  $p+r$  odd were explicitly evaluated for the first time in [3]. As commented in [3], there is strong evidence that for  $p+r$  even  $S(r, p)$  can be evaluated only in some particular cases:  $S(p, p)$ ,  $S(2, 4)$ ,  $S(4, 2)$ . A powerful method for evaluation of Euler sums, based on the residue theorem, was presented in [7].

The purpose of this note is to describe an elementary procedure for consecutive evaluation of  $S(r, p)$ ,  $r = 1, 2, 3, \dots$ , by a recursive relation. The method requires only general knowledge of differential calculus. We hope that this technique will give more insight into the nature of these numbers and make them more accessible. For instance, it is explicitly shown that when both  $p$  and  $r$  are odd,  $S(p, r)$  can be evaluated in terms of zeta values and  $S(k, l)$  where both  $k, l$  are even and  $k+l = p+r$ .

We first list some notations and simple facts. As Euler found:

$$S(r, p) + S(p, r) = \zeta(p)\zeta(r) + \zeta(p+r) \quad (1.4)$$

and therefore,

$$S(p, p) = \left(\frac{1}{2}\right) [\zeta(p)^2 + \zeta(2p)], \quad p \geq 2. \quad (1.5)$$

We have

$$w(p, r) \equiv \sum_{n, m=1}^{\infty} \frac{1}{n^p(n+m)^r} = \zeta(p)\zeta(r) - S(r, p), \quad (1.6)$$

$$w(p) \equiv \sum_{n, m=1}^{\infty} \frac{1}{n^{p-1}m(n+m)} = S(1, p). \quad (1.7)$$

Define also

$$v(p, r) \equiv \sum'_{n, m=1}^{\infty} \frac{1}{n^p(n-m)^r} \quad (1.8)$$

(the “prime” in the sigma means  $m \neq n$ ). We easily find that

$$v(p, r) = S(r, p) - \zeta(p+r) + (-1)^r \zeta(p)\zeta(r). \quad (1.9)$$

Analogous to (1.7),

$$v(p) \equiv \sum'_{n, m=1}^{\infty} \frac{1}{n^{p-1}m(n-m)} = S(1, p) - 2\zeta(p+1). \quad (1.10)$$

All these relations are evaluated by simple direct computations. For example,

$$\begin{aligned} v(p) &= \sum' \frac{1}{n^p} \frac{n}{m(n-m)} = \sum_{n=1}^{\infty} \frac{1}{n^p} \sum'_{m=1}^{\infty} \left( \frac{1}{m} + \frac{1}{n-m} \right) \\ &= \sum_{n=1}^{\infty} \frac{1}{n^p} \left( H_n^{(1)} - \frac{2}{n} \right) = S(1, p) - 2\zeta(p+1). \end{aligned} \quad (1.11)$$

**2. Evaluation of  $S(r, p)$ ,  $r = 1, 2, 3$ .** We use an idea from [4]. Set

$$\sigma_+(p; x) \equiv \sum_{n=1}^{\infty} \frac{1}{n^p(n+x)}. \quad (2.1)$$

Let  $m$  be an arbitrary positive integer. Summing for all  $n = 1, 2, \dots, n \neq m$ , define also

$$\sigma_-(p; x; m) \equiv \sum'_{n=1}^{\infty} \frac{1}{n^p(n-x)}. \quad (2.2)$$

**LEMMA 2.1.** *For every  $x$  where the equations are defined:*

$$\sigma_+(p; x) = \sum_{k=1}^{p-1} \frac{(-1)^{k-1} \zeta(p-k+1)}{x^k} + \frac{(-1)^{p-1}}{x^p} \sum_{n=1}^{\infty} \frac{x}{n(n+x)}, \quad (2.3)$$

$$\sigma_-(p; x; m) = - \sum_{k=1}^{p-1} \frac{1}{x^k} \left[ \zeta(p-k+1) - \frac{1}{m^{p-k+1}} \right] + \frac{1}{x^p} \sum' \frac{x}{n(n-x)}. \quad (2.4)$$

**PROOF.**

$$\sigma_- = -\frac{1}{x} \sum' \frac{n-x-n}{n^p(n-x)} = -\frac{1}{x} \sum' \frac{1}{n^p} + \frac{1}{x} \sum' \frac{1}{n^{p-1}(n-x)}. \quad (2.5)$$

The first sum on the right is

$$\sum' \frac{1}{n^p} = \zeta(p) - \frac{1}{m^p}, \quad (2.6)$$

and repeating this procedure  $p-2$  more times we obtain (2.4). Equation (2.3) is demonstrated by the same way (see [4]).

We can now immediately evaluate  $S(1, p)$ . Write (2.4) with  $p-1$  in place of  $p$

$$\sum_{n=1}^{\infty} \frac{1}{n^{p-1}(n-x)} = -\sum_{k=1}^{p-2} \frac{1}{x^k} \left[ \zeta(p-k) - \frac{1}{m^{p-k}} \right] + \frac{1}{x^{p-1}} \sum_{n=1}^{\infty} \frac{x}{n(n-x)}. \quad (2.7)$$

Then set  $x = m$ , divide both sides by  $m$ , and sum for  $m = 1, 2, \dots$  to get

$$\nu(p) = -\sum_{k=1}^{p-2} \left[ \zeta(k+1)\zeta(p-k) - \zeta(p+1) \right] + \sum_{n,m=1}^{\infty} \frac{1}{m^{p-1}n(n-m)}. \quad (2.8)$$

The second sum on the right is, in fact,  $-\nu(p)$ . Solving for  $\nu(p)$  and using (1.10) we find Euler's formula

$$S(1, p) = \left(1 + \frac{p}{2}\right) \zeta(p+1) - \frac{1}{2} \sum_{k=1}^{p-2} \zeta(k+1)\zeta(p-k), \quad (2.9)$$

for every  $p > 2$ . When  $p = 2$  the sum is missing and  $S(1, 2) = 2\zeta(3)$ .

Using Lemma 2.1, we can evaluate  $S(r, p)$ ,  $r = 2$ , by differentiating for  $x$  in (2.3) and summing for  $x = m$ . Thus

$$\begin{aligned} \frac{d}{dx} \sigma_+(p; x) &= -\sum_{n=1}^{\infty} \frac{1}{n^p(n+x)^2} \\ &= -\sum_{k=1}^{p-1} \frac{(-1)^{k-1} k \zeta(p-k+1)}{x^{k+1}} \\ &\quad - \frac{(-1)^{p-1} p}{x^{p+1}} \sum_{n=1}^{\infty} \frac{x}{n(n+x)} + \frac{(-1)^{p-1}}{x^p} \sum_{n=1}^{\infty} \frac{1}{(n+x)^2}. \end{aligned} \quad (2.10)$$

For differentiation we use that

$$\frac{x}{n(n+x)} = \frac{1}{n} - \frac{1}{n+x}. \quad (2.11)$$

Setting  $x = m$ , summing over  $m$  and taking into account (1.6) and (1.7) we come to

$$\begin{aligned} S(2, p) - \zeta(2)\zeta(p) &= -\sum_{k=1}^{p-1} (-1)^{k-1} k \zeta(k+1)\zeta(p-k+1) \\ &\quad - (-1)^{p-1} p S(1, p+1) + (-1)^{p-1} [\zeta(2)\zeta(p) - S(2, p)]. \end{aligned} \quad (2.12)$$

Solving for  $S(2, p)$  we find

$$S(2, p)[1 - (-1)^p] = [1 - (-1)^p]\zeta(2)\zeta(p) - \sum_{k=1}^{p-1} (-1)^{k-1} k \zeta(k+1) \zeta(p-k+1) - (-1)^{p-1} p S(1, p+1). \quad (2.13)$$

When  $p$  is odd, we can express  $S(2, p)$  in terms of zeta values as

$$S(2, p) = 2\zeta(2)\zeta(p) - \frac{1}{2} \sum_{k=1}^{p-1} (-1)^{k-1} k \zeta(k+1) \zeta(p-k+1) - \frac{1}{2} (-1)^{p-1} p S(1, p+1), \quad (2.14)$$

combined with (2.9) this is (cf. [3])

$$S(2, p) = \frac{1}{4} \sum_{k=1}^{p-1} (2(-1)^k k + p) \zeta(k+1) \zeta(p-k+1) + \zeta(2)\zeta(p) - \frac{1}{4} (3p + p^2) \zeta(p+2). \quad (2.15)$$

For  $p$  even, the left-hand side in (2.13) is zero and we come to an equivalent form of (2.9).

We now continue this process and try to evaluate  $S(3, p)$  from  $d^2\sigma_+/dx^2$

$$\begin{aligned} \left(\frac{d}{dx}\right)^2 \sigma_+(p; x) &= 2 \sum_{n=1}^{\infty} \frac{1}{n^p (n+x)^3} \\ &= \sum_{k=1}^{p-1} \frac{(-1)^{k-1} k(k+1) \zeta(p-k+1)}{x^{k+2}} + \frac{(-1)^{p-1} p(p+1)}{x^{p+2}} \sum_{n=1}^{\infty} \frac{x}{n(n+x)} \\ &\quad - 2 \frac{(-1)^{p-1} p}{x^{p+1}} \sum_{n=1}^{\infty} \frac{1}{(n+x)^2} - 2 \frac{(-1)^{p-1}}{x^p} \sum_{n=1}^{\infty} \frac{1}{(n+x)^3}, \end{aligned} \quad (2.16)$$

which implies ( $x = m$  and summing over  $m$ )

$$\begin{aligned} S(3, p)[1 - (-1)^p] &= [1 - (-1)^p]\zeta(3)\zeta(p) \\ &\quad - \frac{1}{2} \sum_{k=1}^{p-1} (-1)^{k-1} k(k+1) \zeta(k+2) \zeta(p-k+1) \\ &\quad - \frac{1}{2} (-1)^{p-1} p(p+1) S(1, p+2) \\ &\quad + (-1)^{p-1} p [\zeta(2)\zeta(p+1) - S(2, p+1)]. \end{aligned} \quad (2.17)$$

When  $p$  is odd, we can express  $S(3, p)$  in terms of zeta values and  $S(2, p+1)$ , where  $p+1$  is even

$$\begin{aligned} S(3, p) &= \zeta(3)\zeta(p) - \frac{1}{4} \sum_{k=1}^{p-1} (-1)^{k-1} k(k+1) \zeta(k+2) \zeta(p-k+1) \\ &\quad - \frac{p(p+1)}{4} S(1, p+2) + \frac{p}{2} [\zeta(2)\zeta(p+1) - S(2, p+1)]. \end{aligned} \quad (2.18)$$

For instance, when  $p = 3$

$$S(3, 3) = 2\zeta(3)^2 - \frac{3}{2}S(2, 4), \quad (2.19)$$

which in view of (1.5) gives

$$S(2, 4) = \zeta(3)^2 - \frac{1}{3}\zeta(6) = \zeta(3)^2 - \frac{\pi^6}{2835}. \quad (2.20)$$

When  $p = 5$ , we find

$$S(3, 5) = 5\zeta(3)\zeta(5) - \frac{\pi^2}{3600} - \frac{5}{2}S(2, 6). \quad (2.21)$$

Several such relations are listed in [7, page 23]. The exceptional character of  $S(2, 4)$  is clear from (2.19): we can evaluate it, because we can evaluate  $S(3, 3)$ . The numbers  $S(2, q)$  for even  $q > 4$  are resisting evaluation in terms of zeta values.

When  $p$  is even, the left-hand side in (2.17) is zero and the equation turns into (2.15). In order to evaluate  $S(3, p)$  in this case, we use the expression  $\sigma_-$  from (2.4). Consecutive differentiation gives

$$\begin{aligned} \left(\frac{d}{dx}\right)^2 \sigma_- &= 2 \sum' \frac{1}{n^p(n-x)^3} \\ &= - \sum_{k=1}^{p-1} \frac{k(k+1)}{x^{k+2}} \left[ \zeta(p-k+1) - \frac{1}{m^{p-k+1}} \right] \\ &\quad + \frac{p(p+1)}{x^{p+2}} \sum' \frac{x}{n(n-x)} - \frac{2p}{x^{p+1}} \sum' \frac{1}{(n-x)^2} + \frac{2}{x^p} \sum' \frac{1}{(n-x)^3}. \end{aligned} \quad (2.22)$$

Note that

$$\frac{x}{n(n-x)} = \frac{1}{n-x} - \frac{1}{n}. \quad (2.23)$$

Setting  $x = m$ , summing over  $m$ , and taking into consideration (1.9), we come to

$$\begin{aligned} S(3, p) &= \zeta(3)\zeta(p) + \left(1 + \frac{p^3 + 5p}{12}\right)\zeta(p+3) \\ &\quad - \frac{1}{4} \sum_{k=1}^{p-1} k(k+1)\zeta(k+2)\zeta(p-k+1) \\ &\quad - \frac{1}{4}p(p+1)S(1, p+2) - \frac{1}{2}[S(2, p+1) + \zeta(p+1)\zeta(2)] \quad (p \text{ even}). \end{aligned} \quad (2.24)$$

Here  $p+1$  is odd, so  $S(2, p+1)$  is a combination of zeta values—see (2.15), and therefore  $S(3, p)$  is a combination of zeta values.  $\square$

**3. General recursive formulas.** Applying the above method for ascending values of  $r$ , the sums  $S(r, p)$  can be evaluated in terms of zeta values for all  $r + p$  odd: when  $r$  is even, we use consecutive derivatives of  $\sigma_+(p; x)$ —see [4, Lemma 2]. We obtain

representations of the form (2.13) where we can solve for  $S(r, p)$  in case  $p$  is odd. When  $r$  is odd, we use the derivatives of  $\sigma_-(p; x; m)$  as shown above. The general representations are listed in the following theorem.

**THEOREM 3.1.** *With the interpretation  $\zeta(1) = 0$ , we have*

$$\begin{aligned} S(r, p) = & \zeta(r)\zeta(p) + \frac{1}{2} \sum_{k=0}^{p-2} (-1)^{k+1} \binom{r+k-1}{r-1} \zeta(p-k)\zeta(r+k) \\ & + \frac{1}{2} \frac{(-1)^{p-1}}{2(p-1)!} \sum_{k=0}^{r-2} \frac{(r+p-k-2)!}{(r-k-1)!} \\ & \times [S(k+1, r+p-k-1) - \zeta(k+1)\zeta(r+p-k-1)] \end{aligned} \quad (3.1)$$

for  $p$  odd and all  $r$ . Also

$$\begin{aligned} S(r, p) = & \zeta(p+r) - \zeta(r)\zeta(p) \\ & - \frac{1}{2} \sum_{k=0}^{p-2} (-1)^{k+1} \binom{r+k-1}{r-1} [\zeta(p-k)\zeta(r+k) - \zeta(p+r)] \\ & + \frac{1}{2(p-1)!} \sum_{k=0}^{r-2} (-1)^k \frac{(r+p-k-2)!}{(r-k-1)!} [S(k+1, r+p-k-1) - \zeta(p+r) \\ & + (-1)^{k+1} \zeta(k+1)\zeta(r+p-k-1)] \end{aligned} \quad (3.2)$$

for  $r$  odd and every  $p$ .

Equation (3.1) is derived from (2.3) (details can be found in [4]) and (3.2) follows the same way from (2.4). Equation (3.1) was possibly found for the first time by Nielsen [9, page 48, equation (12)].

Every sum  $S(r, p)$  can be expressed in terms of zeta values and  $S(n, m)$ , where  $n + m = p + r$  and  $n < r$ . When  $p + r$  is odd, (3.1) and (3.2) working together bring to the representation of  $S(r, p)$  in terms of zeta values. The explicit formula can be found in [3] or [7]. When  $r$  and  $p$  are both odd,  $S(r, p)$  can be expressed only in terms of zeta values and  $S(n, m)$ , where  $n + m = p + r$  and  $n, m$  are both even (see also the comments in [3, Section 3] and [7, page 23]).

## REFERENCES

- [1] D. H. Bailey, J. M. Borwein, and R. Girgensohn, *Experimental evaluation of Euler sums*, Experiment. Math. **3** (1994), no. 1, 17–30.
- [2] B. C. Berndt, *Ramanujan's Notebooks. Part I*, Springer-Verlag, New York, 1985.
- [3] D. Borwein, J. M. Borwein, and R. Girgensohn, *Explicit evaluation of Euler sums*, Proc. Edinburgh Math. Soc. (2) **38** (1995), no. 2, 277–294.
- [4] K. N. Boyadzhiev, *Evaluation of Euler-Zagier sums*, Int. J. Math. Math. Sci. **27** (2001), no. 7, 407–412.
- [5] R. E. Crandall and J. P. Buhler, *On the evaluation of Euler sums*, Experiment. Math. **3** (1994), no. 4, 275–285.
- [6] L. Euler, *Opera Omnia*, vol. 15, Teubner, Berlin, 1917.
- [7] P. Flajolet and B. Salvy, *Euler sums and contour integral representations*, Experiment. Math. **7** (1998), no. 1, 15–35.

- [8] J. G. Huard, K. S. Williams, and N.-Y. Zhang, *On Tornheim's double series*, Acta Arith. **75** (1996), no. 2, 105–117.
- [9] N. Nielsen, *Die Gammafunktion. Band I. Handbuch der Theorie der Gammafunktion. Band II. Theorie des Integrallogarithmus und verwandter Transzendenten*, Chelsea, New York, 1965 (German).

KHRISTO N. BOYADZHIEV: DEPARTMENT OF MATHEMATICS, OHIO NORTHERN UNIVERSITY,  
ADA, OH 45810, USA

*E-mail address:* [k-boyadzhiev@onu.edu](mailto:k-boyadzhiev@onu.edu)

## Special Issue on Modeling Experimental Nonlinear Dynamics and Chaotic Scenarios

### Call for Papers

Thinking about nonlinearity in engineering areas, up to the 70s, was focused on intentionally built nonlinear parts in order to improve the operational characteristics of a device or system. Keying, saturation, hysteretic phenomena, and dead zones were added to existing devices increasing their behavior diversity and precision. In this context, an intrinsic nonlinearity was treated just as a linear approximation, around equilibrium points.

Inspired on the rediscovering of the richness of nonlinear and chaotic phenomena, engineers started using analytical tools from “Qualitative Theory of Differential Equations,” allowing more precise analysis and synthesis, in order to produce new vital products and services. Bifurcation theory, dynamical systems and chaos started to be part of the mandatory set of tools for design engineers.

This proposed special edition of the *Mathematical Problems in Engineering* aims to provide a picture of the importance of the bifurcation theory, relating it with nonlinear and chaotic dynamics for natural and engineered systems. Ideas of how this dynamics can be captured through precisely tailored real and numerical experiments and understanding by the combination of specific tools that associate dynamical system theory and geometric tools in a very clever, sophisticated, and at the same time simple and unique analytical environment are the subject of this issue, allowing new methods to design high-precision devices and equipment.

Authors should follow the Mathematical Problems in Engineering manuscript format described at <http://www.hindawi.com/journals/mpe/>. Prospective authors should submit an electronic copy of their complete manuscript through the journal Manuscript Tracking System at <http://mts.hindawi.com/> according to the following timetable:

Manuscript Due	December 1, 2008
First Round of Reviews	March 1, 2009
Publication Date	June 1, 2009

### Guest Editors

**José Roberto Castilho Piqueira**, Telecommunication and Control Engineering Department, Polytechnic School, The University of São Paulo, 05508-970 São Paulo, Brazil; [piqueira@lac.usp.br](mailto:piqueira@lac.usp.br)

**Elbert E. Neher Macau**, Laboratório Associado de Matemática Aplicada e Computação (LAC), Instituto Nacional de Pesquisas Espaciais (INPE), São José dos Campos, 12227-010 São Paulo, Brazil ; [elbert@lac.inpe.br](mailto:elbert@lac.inpe.br)

**Celso Grebogi**, Center for Applied Dynamics Research, King's College, University of Aberdeen, Aberdeen AB24 3UE, UK; [grebogi@abdn.ac.uk](mailto:grebogi@abdn.ac.uk)